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1y ,o"*m /oh}-eu-. Type Quastion,
""h‘mrww,m% *mmﬁmn‘,wtm*w”ﬁh
ﬂun!ﬁzwmw,w“mwmh
QuQs;,'OnN

IS 41a as
e is corrpet You haye ()

h? . - A Sheet. Answer 4Ny 35 queations 355718
N wrcte wa ko

€ v

Aril i cdible in which of th

(Al Myristicq AB)  Litchi
(C)

Annonqg (D} All of these

D) ¥ | wdt

c following fruits ?

SO, WI¥0T %1 guw §
@) e B) TR
(C) o= D) TWI T
Indicator of SO,, pollution is |
(A)  Algac (B} Lichen
(C)  Fungi (D) All of these
Yes &1 o i et & 2

(A) T AYFEE (B T Ty
(C) STl TYHEE! (D) (A) ¥R (B) T

Honey is made by .
(A)  Male honeybee ' (B]  Queen honeybee
}(2)’ Worker honeybee (D)  Both (A) and (B)
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. .ot s sfirat o B &)
freifad H F

4.
N (B)
(
© ) 3R @) D) e
which diseasc is found in hen ?
(A)  Cholera B smar
(C) Both (A) and (B) (D) Renikher

5. Eﬁ@gmwmmﬁwﬁa%mhﬁmw#?
& e B e

. () ey D)
> The flour of Idli and Dosa jg made by the use of which microbe ?
g (A) Bacteria (B) Lactobacillus
2 (C)  Virus (D) Yeast
2 6.  TIRM fed wret favam sy 2 2
ou
5,_ (A) T (B) T U
b ¢ Y r L
S € FEFEg (D) ¥ ¥ #IE 7
Agarose is extracted from
(A) Maize (B) Sea weeds
(C) Cycas ' (D)  None of these
7. A Hige e st fear o7 2
(A)  TITHT T ik B) e
(C) S/ aur BT D) T ¥ I
Operon model was proposed by |
(A)  Watson and Crick . (B}  Nirenberg

yl Jacob and Monad (D)  None of them
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l"ﬁl'ﬂ'ﬂ h

(A) WA w)

()
() h?lf-l‘ﬂ ﬁiﬂ ()
Fcehidna s
A} Connecting link (H)
' (C)  Extinet link (D)
J '513\‘ g
(A) %—('1‘?1 WAt (B)
(C) mtawd vt (D)
Dodo is
(A) Extinct species (B)
J‘(C] Threatened species (D)
0. = I w9 e gy
(A) 3T (B)
(C) I (D)
Which of the following is a diploid structure ?
(A)  Ovum (B)
(€)  Zygote (D)
11, =9 99 dr seiighr ¥ 2
() Teeme (B)
(C) viem (D)

Which onc is hydrophytic plant ?
{A) Trapa (B)

(C)  Dalbergia (D)

17y oy ¥irt

$0it A Wy g

Vestiginl organ

None of thege

Uz gt

Endangered species

None of these

oTarY
=9 g |

Endosperm
All of these

ANTEA
TSI

Opuntia

Acacia
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12. Hﬁ?ﬁﬁﬁmﬁqﬁﬁmﬁ%

@ Fvor B) ey
I
©) st (D) §
aFd
Sertoli cells are found inp
(A) Testis (B
) Uter
(C) Ova "
ry- (D) Liver
I () & o ) s 3
(A) 44 +
XX B) 44+ xy
© 46+ xy D) 46 + XX
+ a
g Number of chromosomesg In human being (male) is
S (A) 44 + xx
4 o (B) 44 + xy
% - 46+XY_ (D) 46 + XX
14
: ARV {57 T srafem & o
9]
o
Z (A) 3w (B). e s
a.
*g (C) IW Wy D) fewr
=

Rhino sanctuary is located in which state ?

(A) Assam , (B)  West Bengal
(C) Uttar Pradesh (D)  Bihar
15. o @ & faary @ @ aeh SRt @ & o
(A) W (B)  ¥FICH
c) fewife (D) e

Which of the following is not a viral disease ?

(A)  Mumps (B}  Influenza;

(C) Diphtheria (D) Measles:
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1'6.

17.

18.

19.

Fro=fafaa 1 W uepures 3 afinfer o 8 o

(A Hyrad) Mt (B) iz vy

() T (D) HdErE e

which of the following is not included in nnimal husbandry 9

(A)  Bee-keeping (B)  Poultry farming
(C) Fish farming () Organic farming
frfefaa & forae dey agmEEc) @ @ ¥ 2

(A) 5 IR (B) o Blo TEEA
(C) WA e (D) T HiE@

Who among the following is not related with microbiology ?

(A)  Louis Pasteur -~ (B) J.D.Watson
(C) Stephan Hales (D)  Robert Koch

Q?"Fﬁ@?\q e Ry st 3 ? https://www .bsebstudy.com

(A)  UH-3IRTAY d B) -IRGTH

€ JR-FRET F D) - T Y B

Anticodons are found in ' |

(A)  m-RNA ' (B) t-RNA

(C) +RNA _ (D)  None of these

Ted 7 wfquifed feman

(A)  GeerHar @ FEm (B)  3ratTeRar &1 fam
© (a) 3K () I D) T ¥ B
Mendel proposed |
(A) Law of linkage (B) Law of inheritance
(C)  Both (A) and (B) (D) None of these
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20.

21.

22.

23.

yererRvl & gl F N T FHA & ?

() sonfaar @ frm . (B) A ey o Frem
(C) H"’-Tcﬁ &l &l bl fram (D) g:rﬁ[ -@ Eﬁﬁ :{Eﬁ

Law of segregation is also known as

(A)  Law of dominance (B) Law of independent asso
(C)  Law of purity of gametes (D)  None of these o
Tt rstiferal o fRioT &1 et e
() S (B) IR
C) faerm D) R faferrar
Which of the following factors is important in the formation of new species ?
(A)  Competition (B)  Mutation
(C)  Isolation (D)  Continuous variation
s o g &
(A) Co, (B) Hy
(C) CH, (O) FH I Ed
Biogas contains
(A)  CO, - (B} H,
{C] CH a (D) All of these
spifiT-aNer forg sraen d gar g 2
W PR (B) SRR
o (D) SHEHRAEE

In which stage does crossing-over take place ?
(B) Cytokinesis

(A) Leptotene
(D) Diakinesis

(C) Pachytene

i
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Iﬂ("{-ﬁﬁﬂﬁ'ﬂ 7} F‘*ﬂﬁih Zﬂ.']‘q m'_ﬂ %!‘ .

(A)  HIV &
3 {H) LA 'l.]l'[ 1
(€C) &I
| B9 nm
PCR is usced to deteey (D) B &)
(A v
() Cholera (B) T.B.
D) can
5. WEE SHfEd TRy SR : cer
15. ﬁﬁmﬁ%m?ﬁm’lmmmm&
(A) S
(B) M
C) IR
Bvery 1 D) T F
very wvimg cell of 1 . . -
known as Plant can give 1se to the whole plant. This property is

[A) C].Oning
(C) TOLiPDtency

2. ST Wit 3 oy

Ay n

(B)  Somaclonal
(D) Al of these

TG & e w= ¥ )

(B) 2n

© 3 D) (&) 3 () I

What is the ploidy

(A n B) 2n
(C)  3n (D) both (A) and (C)
27. TS WA Sl Thet S 310 2§, 79 98 s T 2

&) T | B) TR W
©  (A) 3R (B) I (D) iR Fre

When offspring is formed by single parent, it is called as
(A) Sexual reproduction (B)  Asexual reproduction

(C)  Both (A)and (B) (D)  Internal fertilization

level of chromosomes in endosperm of angiospermic plant ?

wod Apnysqasq mmm//:sdpy



wod Apnysqasq mmm//:sdny

28.

29.

30.

31.

HIE gl 4 TR i et ST gt § 2

(A) 21 (B) 23
(C) 44 ‘ (D) 46
What is the number of chromosomes present in"human gametes ?
(A) 21 (B) 23
(C) 44 (D) 46
$RTY & urefifafes o wrar wer &
(A)  Wrgeifas o amafaE (B) WA wE A
() wrefad wd gifaw (D)  UrHE T e
=
Pyrimidines present in RNA are %
(A)  Cytosine and Thymine (B)  Adcnine and Guanine %:
(C)  Cytosinc and Uracil (D)  Thymine and Uracil é
giuer GEieim et w1 SugiT e o 78 aar & o 3
¢
o2
(a) TewifEr B) wIfA g
, <
(C) CEREE | D) 29 %
Triple antigen vaccine is not used for
(A) Diphtheria (B) Pertusis
(C)  Typhoid _ (D) Tetanus
= | 9 Weey 9 78 € 2
&) e (B) TARIFARIBEA
(C) e SRAHES (D)  ARERH

Which of the following is not a greecnhouse gas ?
(A} Mecthane ‘ (B)  Chlorofluorocarbon

(C) CO, (D)  Nitrogen



wod Apnysqasq mmm//:sdny

32. mmmqﬁ-@,

33.

(B) A Te

) Ay
K ferg D)  Ofzur & fEn
anha Nationg) P
ark is famouyg f,
(A) Bird o
(C) . s (B)  Tigers
Rhmoccros

(D)  Crocodiles

(B) WY, T SN HTA

© o, 75 s 9 D) o, Toeh SR R
Whi ,

hich of the following is the correct food chain ?
(A) Grass, Wheat and Mango (B)  Goat, Cow and Grass

(C] GI‘aSS_, Goat and Lion (D] Grass, Fish and Goat

34, HYderarmee ¢

(A) ‘\’I'T'f'bw:iﬁﬁlﬁqﬁ‘rﬁﬁq (B) IR + hiTHE
(C)  TRESH I% 99 + wrke (D) Eﬂﬁﬁﬁqﬁ

Nuclebside is
(A) Sugar + a nitrogenous base -(B)

Sugar + Phosphate
(C) Nitrogenous base + Phosphate (D)

35. Write Fmir &t wea §

None of these

(A) AR (B) WREREATEg
© RS D) T | w7
The process of formation of gametes is calléd

(A)  Gametogenesis : (B) Cytokinesisg
(C)  Sporogenesis (D) None of these
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36.

37.

w
&

39.

TR e &

(A)  wEEfERTTS ®)

(C) TS (D)
Restriction ¢nzymes are

(A) Exonuclease (B
(C) Ligasc (D;
U I 5 e o o 3
(A)  TRIRT Y | B)
€ Rt d 5 D)

In National Park, protection ig provided t;)
(A)  Flora

YHBRT
T ¥ FKE @

. rl : ill\‘i 31

EndonuC]ca%

PO!Ymerase

T
(A) &R (B) I

Fauna
Both (A) and (B)
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Herbivores

None of these

ferdl ot W B 100°C F IR
T Q@ FE T

(B)

(C)  Ecosystem (D)
Taciias Serewhar frad gefg g2

(A) EIeICE (B)
(C) HYURRY (D)
Secondary productivity is related to https://www .bsebstudy.com
(A)  Producers (B)
(C) Carnivores | | (D)
URERTESRA § T R &

(A)  EeT Y i - (B)
() Tt ot @& =t 70°C W (D)

Pastcurization is heating of
(A) milk only ' (B)
(C)  any liquid at 70°C (D)

none of these

any liquid above 100°C
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42.

43.

CHUIR G I

(A) UF-wy
) By

The wall of pollen grain is

(C)  Triple layereq
TRz 3y NN
(VI TS R

(C) uxRmg ]

T-lymphocyte originates from

(A)  Bone marrow

(C)  Thymus

EcoRI THRH &7 &g &

(A)  Bam H]

(© () 3R (B) I
Source of EcoRI enzyme is

(A) Bam H1 -
(C) Both (A) and (B)

(B)

()

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

AR

(D)

fsaritn

7% -27ivy

Double layered

Multi-layered

T 8

aFa |

Stomach

Liver

E.coli

Hind111

E.coli
Hind111

FreT & @ 9 R g} GaoR w0 o s § 2

a) e
(C) TEHSH ity

(B)

(D)

TREe
Tims %

Which one forms endosperm after fusion with male gamete ?

(A)  Oosporcs
(C)  Syncrgids

(B)
(D)

Antipodals

Secondary nucleus
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aq. e ol aar qad ol g e W) jeg ey R o vy )
Ty

46.

@ aculeda 1) vt Q wi ah

One gene pair hidox the effect of 0 i
? \ another gone pair, Ty o
I + Thin phenome
‘i * nun [' .

A) pintasi
i pintasis (13) Dominanee

& Mutati
) utation . (D) None of these

i
i

R KREW T o e w e w0 Bitici R e 'ﬁ\’nt
s ¥, W W wE ¥ ) |

W b - B) - HG

€) TRwem (D) WG HIOH

A sequence of three bases on tRNA which binds to mRNA codon is
(A)  Triplet (B) Non-sense codon

(C)  Anticodon (D) Termination codon

afeat SRRt S areHt H wTEeiar T ¥ET SR 8, W OEE w2
TR s (B) i
© fawrg (D) ¥

The group of Wucheréria bancrofti which causes filaria in human being is

(A) Protozoa (B) Bacteria

(C) Virus (D) Helminth
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47.

48.

49,

50.

% arewinm ,
LRI e v ahr i Fan wnafae wren b2
(A g

(B)  AHH

C

€) W=l (D) SPTE

Which orgun of the body is most affected by cxcessive intake of alcohol ?
(A} Lungs (B) Liver

(€)  Spleen (D)  Stomach
HeW ¥ Fram 1w e &

(&) wfea (B) gIHH a6l

(C)  Feeran (D) e FUEE

An exceeption of Mendel's law is

(A} Dominance (3)  Purity of gamete

(C)  Linkage (D)  Indcpendent assortment

== A | 9 dm gl a2

(A)  ZIA%RIES B) &N

C TR | p) fawied
Which of the following is a sexually transmitted discasc ?
(A) Typhoid (B) Cholera

(C) Malana (D)  Syphilis
b § o Siewd @Y € 2

(A) S ‘ @) A

© (@I @I (D) ErEfgen
Which of the following is/arc inscctivorous plant(s) ?

(A) Drosera (B) Nepenthes

(C) Both (A) and (B) D)  Hydrilla
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53.

54.

Hl.

FEst a3 ey awafind wimd 2 o

A il .
A } (B) Hiy

(©) (A) BIR (1) el D)
Out of the following which
(A) Hen

(C) Both (A) and (B)
IR Fe S i

onc is hermaphrodite Organism 7
(B)  Snake
[D(V Earthworm

(A) Ve .

(B)  <Em
(C)  wrersfan

Chlorellq is » type of

A yae
A} Algac (B) Bacteria
(C) Protozoa (D)  Single cell protein
TSI AR A o Boet &1 ol & 2
(A) U™ ‘ (B) W™
(€ ™ (D) T
'Cry-genc' prevents which crop from bollworm ?
[)} Cotton . (B) Tea
(C) Mango (D)  Wheat

8 @ duae d FH-9 gRA s9 § ?

(A) A 3R qrgeEH (B) I 3R YR
() U 3R e (D) T § Hig T

Purinc bases of DNA arc

(A) Adenine and Cytosine (B)  Cytosine and Thymine

(C) Adenine and Guanine (D)  None of these

(D)  Tshel IV Oy
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¥y %’l

BT sy g AR

Ay Ay g B) 2R g,
© ) s () (D) 9 4 %t
Cancer iy causcd by
(A) Bacteria , (B) Oncogenes
€)  Both (A) and (B) (D)  None of these

5. YA T e uya ¥ 7

(A) Al TS (B) T T

€© (a) &R B) I (D) T § =%

Which one of the following is possible in micropropagation ?

(A) Ascxual reproduction (B)  Sexual reproduction
(C)  Both (A) and (B) (D) None of these

57. HEHE OF @l e E 2

A w=EH B) R A
© TR . - O Fwhd
Menstrual cycle occurs In
(A) Human (B) Monkey
{Cy Chimpanzee (D}  All of these
S CERERER S R
W) e | B) IR §
) @I @I D) T A ®E 76
Binarny fission occurs in
i‘}}_, Amoeba B) Paramecium

i1t Both {A) and (B) (D) None of these
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- . Y 9T 9T BT 7
59. ST &) F wzerel qge, & Al AT T :
B) 36

(D) 32

(A} 64
(C) 85

In a DNA molccule, the cytosine 18 18

(A) 64 B 36
(C) 85 o 32
60. %mqﬁwﬁ,—‘qﬁg&$mmmg ?
(A HAfar (B) s
© uzw D) T
Widal test is‘ done to confirm
(A)  Malaria (B)  Typhoid
(C) AIDS (D)  Cancer
61.  HIV R o Reg wiforer w smemaor 7 & 2
@A) B (B)  T-SHIreTE
() wditaferger Sl (D) T2 THIlvTeRT
HIV attacks on which of the following cells ?
(A)  B-cell , /{B)r T-cell
(C)  Epithelial cell ' (D)  T-helper cell
62. UF wgrd b ufe wfeorenm srferar &idl 2, 3% wed &
(A) e (B) Il
(c) QUi D) TIrH

The substances to which an immune response is pProduced, are called
(A)  Allergens (B)  Vaccines
(C)  Antibodies (D)  Antigens

v, then the percentage rs~rad.‘.,h.iw
. -t '3—.

wod Apnysqasq mmm//:sdpy



wod Apnysqasq mmm//:sdny

3. U
’ ® 'ill]!ﬁm—\a@ e ¥
(A)
F"Q’lﬁ:{q (13) hﬂ.‘r!“”-'l
(C)
(A) 3 (B) g 0y T=TM Y SRR
Chcrnical releaseq duc g allergy iy
(A .
{C)) Histamine (B)  Serotonin
Both (A) ang (B) (D)  None of these
4. AW Tirgey TSR Sy 3 ?
(A) ?ﬁ?wﬁ?ﬁw_ B) W = wwaeH

© = = Y

What doeg Operon
(A)

(D) S = e

model repre sent ?
Gene Synthesis

[9- Gene regulation (D) Gene function
65. ﬁwﬁﬁmﬁrmmm% ?

@) ¥

(B) Gene expression

B) ¥
(€)= D Yy
Thalamus is edible Part in which of the following ?
(A) Annona ' Bl Apple

(C) Orange (D) All of these

6. ST et o < o st e & o
(A)  Zrumeh : B) SRTEwES

©) (AR By D) TH | w1 T

DNA is genetic material of

A)  TMV AB) Bacteriophage

(C)  Both (A) and (B) (D)  None of these

wod Apnysqasq mmm//:sdpy



wod Apnysqasq mmm//:sdny

67 o
' ' e gl ®
RUNES I ) sner spgen 3 i 1 TE

A) iy ) HESIR
(C) ElE‘quﬂq ) g;{ff o #1378l
F] .

oW of energy i food chain of an ccosystem 19 . girectional
{AJ Ul\idircctf()n;_l] (B, BldlrL

. ¢ of thesce
(C) Mu“'diﬁ-‘(:liona]' (D) Non

S} 9 v e e 2 |
(A) ey B WW

C) sy D FeArelEaH

Which of the following is not a biofertilizer ? '

68.

Bacillus thuringiensis

(A} Azotobacter (B) s
(C)  Azollq (D) Clostridium
69. & T &1 Wskrvr ger: gy T A € 7
(A) ST B) &
C) e (D) gh
Tuberculosis is transmitted by
(A) Waltcr (B) Air
(C) Insect (D)  Contact

70. S Rudex srpgean oRiefa o s fefo &= e 2

(A) SR (B) S
() HEH (D) TH § i
Bio-reactors in optimal conditions produce

(A)  Product ‘ (B)  Organism
Ifel] Medium (D)  All of these
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WYE - W / SECTION . p

Y Iy V¥ / Bhort Anawer Type Quesntion,

ﬂ##@w.lﬁxmnﬁqawﬁv#'rﬁmﬂ.u:mm?%:mv& | SR % frrr o s

prf &

Ot;cstion Nos. 1 to 20 are Short Answer Type.

Answer any 10 questions, Each questien

es 2 marks :

T & wE g

carm 10 7 2 - 2¢

L// 2

Write the functions of blood.
o, TS I T 2 T et &1 avi
What is global warming ? Explain its effects.

/ '
300 WG R R e ¥ )

What is test-tube baby ?
4, 1ﬂmm%a&MY%qﬁﬁw%maﬁ@aqaﬁaﬁqaﬁl
Describe the ecological adaptation of xerophytic plants.

“GEg o ZafheH &1 goiT Y |

[¥2]

_Describe transcription in brief.

6. )mﬁmﬁﬁiﬁﬁﬁ?ﬁﬁ)arﬁ%ﬁﬁﬁmnﬁﬂaaﬁi

\ /E»p’[‘ain Biopiracy in brief.
7. _UEH HY Wl & SR wi g |

’@: reasons for success of Mendel.
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12.

g, g 3y ufed ) afpafivet w1

1
9. DNA Wfrsfa & fey anaEva® faetl A e M ferg #var UEw §; e ‘h‘

fafere @ w1 wvl &

Define Coupling and Rc;m]sitm.

Jplication and mention o
A rep ; S he ‘P.q‘

Name any two cnzymes required for DN

function of cach of them.
10, WA w e ?wﬁzﬁtﬁmmﬂﬁmﬂéﬁq@mmm ?

ation ? What are the main advantages of producing ph"“

through this technique ?

1. el & qEROTH! &1 qUH

Describe the ill effects of alcohol.

2 areaTte YRRET T e el |

What is micropropag

Comment on Innate immunity.

13, WioTHo3fle T W el

14,

5.

16,

7

Throw light on G.M.O.
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Draw a ncat and well labelled diagram of transverse section of human ovary.
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WhatTs inbreeding ?
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Throw light on Klincfelter's syndyc./
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What is Amoebiasis ? Name its causal organism and describe the symptoms of

this discase.
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What arc allergies ? Describe its symptoms in brief.
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Question Nos. 2] to 26 are Long Answe
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ization In flowering plants.
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